The integrand of some national functions can be obtained by splitting the integrand into partial fractions.

Find
$$\int \frac{1}{(x-3)(x-7)} dx$$
Write
$$\frac{1}{(x-3)(x-7)} = \frac{A}{x-3} + \frac{B}{x-7} \quad \text{where } A \text{ and } B \text{ are constants to be found.}$$

$$= \frac{A(x-7) + B(x-3)}{(x-3)(x-7)}$$
Get identify
$$1 = A(x-7) + B(x-3) \Rightarrow$$

Two ways:

Let
$$\chi = 3$$
 => $1 = A(3-7) =$ $1 = -4A \Rightarrow A = -\frac{1}{4}$

let
$$x = 7 \Rightarrow 1 = B(7-3) \Rightarrow 1 = 4B \Rightarrow B = \frac{1}{4}$$

Equale coefficients (A)
$$1 = (A+B) \times -7A - 3B$$

$$X: 0 = A+B \Rightarrow$$

$$(= -7(-8) - 38 = 48 \Rightarrow (8 = 1/4)$$
 $A = -1/4$

$$\int \frac{1}{(x-3)(x-7)} dx = \int \left(\frac{-1/4}{x-3} + \frac{1/4}{x-7}\right) dx$$

$$= -\frac{1}{4} \ln|x-3| + \frac{1}{4} \ln|x-7| + C$$

$$=\frac{1}{4}\ln\left|\frac{x-7}{x-3}\right|+C$$

$$\frac{\ln |A| - \ln |B| = \ln |A|}{\ln |A-B| + \ln |A|}$$

$$\frac{QQ}{(x-1)^{2}(x-2)}dx = \int \left(\frac{A}{x-1} + \frac{B}{(x-1)^{2}} + \frac{C}{x-2}\right)dx$$

Multiply $\gamma (x+1)^2(x-2)$: through by

$$X = A(x-1)(x-2) + B(x-2) + C(x-1)^{2}$$

$$(x-1)^{2}(x-2)$$

$$(x-2)^{2}(x-2)$$

Let
$$x = \lambda \Rightarrow \lambda = ((21)^2 \Rightarrow 2 = C)$$

Let $x = 1 \Rightarrow 1 = B(1-2) \Rightarrow B = -1$
Let $x = 0 \Rightarrow 0 = A(-1)(-2) + B(-2) + C(1)$

let
$$x = 0$$
 => $0 = A(-1)(-2) + B(-2) + C(1)$

$$=) 0 = 2A + 2 + 2$$

$$2A = -4$$

$$A = -2$$

$$\int \left(\frac{-2}{x-1} - \frac{1}{(x-1)^2} + \frac{2}{x-2}\right) dx = -2\ln|x-1| + (x+1)^{-1} + 2\ln|x-2| + C$$

$$= 2\ln\left(\frac{x-2}{x-1}\right) + \frac{1}{x-1} + C$$

$$\int -(x-1)^{-2} dx$$

Examples from Jamboard

$$\int \frac{1}{(x+7)(x-2)} dx = - + \ln|x+7| + + \ln|x-2| + C$$

$$\int \frac{1}{3P - 3P^2} dP = \int \frac{1}{3P(1-P)} dP = \int \frac{A}{3P} + \frac{B}{1-P} dP \quad \text{where } A \& B \text{ are constants to be found}$$

$$1 = A(1-P) + B(3P)$$

Let
$$P = 1 \Rightarrow 1 = 3B \Rightarrow B = 1/3$$

Let $P = 0 \Rightarrow 1 = A$

$$\int \left(\frac{1}{3P} + \frac{1}{3} + \frac{1}{1-P}\right) dP = \frac{1}{3} \ln |P| - \frac{1}{3} \ln |I-P| + C.$$

$$\frac{d}{dP} \left(\frac{1}{3} \ln |P| - \frac{1}{3} \ln |1^{2} - P| + C \right)$$

$$= \frac{1}{3} \frac{1}{P} - \frac{1}{3} \frac{1}{1 - P} \frac{(-1)}{1 - P} = \frac{1}{3P} + \frac{1}{3} \frac{1}{1 - P}$$

$$= \frac{1}{3} \frac{1}{P} - \frac{1}{3} \frac{1}{1 - P} \frac{(-1)}{1 - P} = \frac{1}{3P} + \frac{1}{3} \frac{1}{1 - P}$$

$$= \frac{1}{3} \frac{1}{P} - \frac{1}{3} \frac{1}{1 - P} \frac{(-1)}{1 - P} = \frac{1}{3P} + \frac{1}{3} \frac{1}{1 - P}$$

$$= \frac{1}{3} \frac{1}{P} - \frac{1}{3} \frac{1}{1 - P} \frac{(-1)}{1 - P} = \frac{1}{3P} + \frac{1}{3} \frac{1}{1 - P}$$

$$= \frac{1}{3} \frac{1}{P} - \frac{1}{3} \frac{1}{1 - P} \frac{(-1)}{1 - P} = \frac{1}{3P} + \frac{1}{3} \frac{1}{1 - P}$$

(45)
$$\int \frac{3x+1}{x^2-3x+2} dx = \int \frac{3x+1}{(x-2)(x-1)} dx$$

$$A = 7$$
 $A = -4$
 A

Final answer

$$7\ln|x-2|-4\ln|x-1|+C$$